Answer Key 5

1.10: 4,22, 31, 34, 36, 40, 43, 52, 61, 67, 78, 87
2.1: 25,33, 35,37, 42,43, 44, 58, 64, 75, 86
2.2:4,22,25,45,52,56, 61, 64
1.10
4) 22)
2x+3y-12=0 Y-intercept -4
x=0 3y=12 y=4 X-ntercept(0.4) | Slope —=
3
y=0 2x=12 x=6 Y-Intercept(6,0) 4
y=——x—-4
3
31) 34)
(_2, 5),(_1, _3) X-intercept (-8,0) Y-intercept (0,6)
I I m=2y_070 _3
Ar —1-2 1 3“ 0-8 4
y=—8x+b y:zx+b
5=-8--2+b ;
- _ 6=—-0+b
h=-11 2
y=—8x—-11 b=6
3
=—x+6
ay
36) 40)

(-1,4) m=undefined
An undefined slope is a vertical line with
equation x=c

(-3,2)Finda L linetoy = —%x+7

Negative reciprical of —% is 2

x=-1
y=2x+b
2=2--3+b
b=8
y=2x+8
43) 43) Continued
(1,-6)find a || linetox+2y=6 —6:—l+b
2y=—x+6 2
1 b:_ﬂ
y=—5x+3 2
parallel lines have the same slope y= —% X —1—21

1
=——x+b
)




61)
4
4x+5y:10—>y:—§x+2

mz—i b=2

Y—Intercept(O,?) 2y=10—>y =5—>(0,5)
X—Intercept(?,O) 5x—10—>x=2—>(2,0)

ki 0,5

n -+

%o

b) y=-2x+7
67) 78)
Sx+2y-10=0

y=2x=5 2y+6x=1
6y=2x+5 2y=—-6x-1
1 5 1

=—x+— y=-3x——
YT Y 2

% is the negative reciprical of -3

so lines are L

87)
a) m=.02 which means .02 degrees/year
15°C is the Average Temperature in 1950

b) T=.02(2050-1950)+ 15°= 2°+15°=17°




33)
g(x):l__x x*+2x  ifx<-1
I+x f(x)= X if —-1<x<1
o g(x) -1 ifx>1
2 —% x  f(x)
-1 undefined - 8
1 1 33
Y 5 2 4
2 lfa -1 -1
a Tra 0 0
2—a 25 -1
a—1
a
2-x°
-1
x =
35) 37)
fx)=x"+1 f(x)=x+4
f(x+2)=(x+2)2+1=x2+4x+5 f(xz):x2+4

f(x)+/(2)=x +1+(2)2 +1=x>+6

(f(x))2 =()c+4)2 =x"+8x+16

Note we write (f(x))2 as f*(x)

42)
h(6)~h(-3)=

(36+5)—(9+5)=41-14=27

43)

f(x):5—2x

f(a+h):5—2(a+h) f(a)=5—2a
flath)-f(a) _

h
5—2(a+h)—(5—2a)_—2h__2
h  h
44) 58)
f(x)=3x*+2 f(x)= X

f(a+h)=3(a+h) +2 f(a)=3d"+2
f(a+h)=f(a) 3(a+h) +2-(3a"+2)

h - h
3a’ +6ah+3h*+2-3a’ -2 6ah+3h’

h

=6a+3h

Xl +x-6 h (x+3)(x—2)

Domainz{xlxeR,x¢2,x¢—3}




64)
g(x)zx/x2 -4
Domainz{x|x£—20rx22}

or (—0,-2]U[2,)

75)
T(x)=.08x
X T(x)
1 .08
2 16
3 24
4 32
il
osf
06T
ol
0.2-:
1 T T T 1 i T T i4 T T
86)
a)
x+15 ifx<100
C(x):{ ]

x 1fx=100
C(75)=15+75=90
C(90)=15+90=105
C(100)=0+100=100
C(105)=0+105=105

b) C(x) represents the total cost of a purchase.




2.2

4)
a- IV b-I ¢-1 d-11I

22) 22) 1
_ 1 T4l

C(t) t+1 i

t C(®) 1 1
4 13 |

3 12 Y
-2 1

-1 undefined | 1
0 -1 |

1 -12 : #

2 -1/3 | ijﬂfaﬁr—F"“"“"'
25) 25) '

H (x)=|2x] T

X H(x)

3 6 “T
2 4

-1 2 T

0 0 )

1 2 “T

2 4




45)

4 ifx<-2
f(x)z x’ if —2<x<2
-xX+6 ifx>2

Does not define a function

52) 56)
a) A Function A function
b) Not a Function Domain =[-3,2]
(-2}0(03]
Range= or
{x|x=—2o0r0<x<3}
61) 64)
2x— 4y2 = \/; —x=5
—4y* =-2x+3 \/;=x+5
, 1 3 2
=—X—— =\x+ 5
4 2 4 4 ( )
y=1 % x _% Defines a function




